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Attempt any five questions, choosing at

least one question from each part.

All questions carry equal marks.
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PART - A
T - A

1. (i) Amit, aresident but not ordinary resident owns the
following assets :
(a) a farm house in Punjab situated 26 km away
from the outer limits of the municipality,

(b) ahouse in England,

(c) a lamborghini car registered in his name but
imported to India and used by his son, and

(d) a flat in Delhi which is used as office for
Pioneers Association of which he is a
member.,

Discuss the includibility of each of these assets n
computing the net wealth of Amit.

(i) The term “belonging to” is capable of connoting
interest which is less than absolute title. Comment.

10+10=20
(i) wﬁaa‘rﬁaﬁ%%@m?ﬁzwﬁarmqﬁ% EF
frefafas enfes w1 =mh 2.
(a)mﬁ@mﬁmaﬁmﬁ—m#m
HmaA 4 26 forrd) gt fedrg 2,
3401 2



(%) Feve d U HEH,

(@) w Sl S sws W A e 3
fohg wma B oG A E R T I6H [T EW
T 8 ATE S B, 3

() g 4 wh w¥e N uiaf weifes & T,
Torae! a8 we@ 8, waie™ & &9 5 Wy B
SR |
i & faa v Y momr = 3 39 enfel §
d yoF § offm Ry sm Qe .
IEEEEETIE S

(ii) W2 “belonging to” 39 T&a F Faa # gey 2, s
T Fehert & o g &) feoaoft fafaw )

2. Keeping in mind the definition of assets in S.2(ea) of
the Wealth Tax Act, 1957, under which entry of
schedule VII of our Constitution do you think Wealth
Tax Act has been enacted. Give your reasoned opinion

and support your answer with relevant cases. 20
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3. Radhika has transferred one of her houses to her son
Raj. She also created a trust for the benefit of her minor
unmarried daughter and transferred an amount of rupees
10 lakhs. The trust money was used to buy a property
which was worth 15 lakhs on the relevant valuation
date. The assessing officer included the value of both
the properties in computing the net wealth of Radhjka.
Radhika contends that both the houses do not belong to
her and, therefore, should not be taxed in her hands,

Decide citing relevant provisions and case law. 20
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4. Nawab Zafar Ali Khan is a recognized successor of a
former ruler whose Lal Bagh Palace was notified as his

official residence under Part ‘B’ of States (Taxation
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Concessions) Order 1950. He came back to India in
July 2008 after having stayed in Trinidad for more than
2 decades to settle herc permanently. He brought back
assets and money to India, including a ferrari car which
he sold off for 2 crores in January 2010. He also
demolished Lal Bagh Palace and constructed a new one
by February 2010. Discuss what exemptions will he get
under the Wealth Tax Act. 1957 for the assessment year
2010-11. Cite relevant provisions of Wealth Tax Act.
and cases. 20
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5. Discuss the possibility of issuing wealth lax assessment
orders to (i) an individual assessee and (1) a Hindu
undivided family who/which was alive/existing on the
relevant valuation date but non-existent due to natural
reasons at the time of completion of assessment. Cite
relevant cases. 20
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PART - B
9 - B

6. (i) The limits of the power under section 144 of the
Income Tax Act, 196! are implicit in the
expression “best of his judgment”. Comment.

(1i) Explain how set off and carry forward of losses is
done for speculative and non-speculative business
under the Income Tax Act, 1961. 20
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7. Discuss how the court, through its decisions, has further
tried to maintain the delicate balance between the need
to collect what is due from the assessee by search and
seizure under section 132 of the Income Tax Act, 1961
and the need to protect right to pri vacy and freedom of
trade and commerce of the assessee. 20
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8.
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With the help of decided cases, explain the content and
scope of the following expressions contained in section
147 of the Income Tax Act, 1961.

(a) ‘reason to believe’ that any income has escaped

assessment.

(b) assessee has not disclosed fully and truly all

material facts necessary for the assessment. 20
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